A

ASSEMBLY PROCEDURE

~STAND THE (2) VERTICAL ASSEMBLIES INTO POSITION AS SHOWN IN

DRAWING #41289

~USING THE 5/8" BOLT ASSEMBLIES PROVIDED, LOOSELY BOLT THE (2)

HORIZONTAL BEAMS TO THE VERTICAL ASSEMBLIES (NOTE THE

MARKINGS ON THE GUSSETS THAT IDENTIFY THE CORRECT ORIENTATION,

SEE EXPLODED VIEW)

~LOOSELY BOLT'THE (4) ANGLE IRON CORNER SUPPORTS IN PLACE

(5/8" BOLTS)

—CHECK THAT THE OVERALL LENGTH AT THE BOTTOM MATCHES

THE OVERALL LENGTH AT THE TOP

: ~TIGHTEN ALL BOLT ASSEMBLIES INSTALLED SO FAR

" n . _ - —PLACE THE ECONOMIZER ON THE STAND AND LOOSELY BOLT THE BEAMS
. ~ : ON THE ECONOMIZER TO THE SHORT VERTICAL BEAMS THAT ARE WELDED

: TO THE TOP OF THE STAND .(5/8" BOLTS)
s | ' ‘ ~LOOSELY BOLT THE BOILER EXHAUST OUTLET/ECONOMIZER INLET

ADAPTER TO THE ECONOMIZER USING THE 3/8" BOLT ASSEMBLIES
PROVIDED = .

—REMOVE PROTECTIVE PARTICLE BOARD SHEET FROM DOWEL SPACER/

EXPANSION JOINT ASSEMBLY :

—BOLT THE DOWEL SPACER/EXPANSION JOINT ASSEMBLY TO THE BOILER
EXHAUST OUTLET AND THE INLET ADAPTER (3/8" BOLTS ON THE
ECONOMIZER SIDE, 1/2" BOLTS ON THE EXPANSION JOINT SIDE)

—IF A HEIGHT ADJUSTMENT NEEDS TO BE MADE, CUT THE TACKWELDS

HOLDING THE 3" ANGLE IRON FLANGE ON THE DOWEL SPACER THAT THE
: . EXPANSION JOINT IS CONNECTED TO AND RAISE OR LOWER FLANGE TO
: : / : PROPER HEIGHT AS NEEDED
: ~ONCE THE DOWEL SPACER AND EXPANSION JOINT ARE TIGHTLY
SECURED TO THE BOILER EXHAUST OUTLET AND THE INLET ADAPTER
SECURE THE STAND MOUNTING PADS TO THE FLOOR
~TIGHTEN ALL REMAINING BOLT ASSEMBLIES |
~CONTINUOUSLY WELD THE 3" ANGLE FLANGE ON THE DOWEL SPACER -
THAT CONNECTS TO THE EXPANSION JOINT

| —HorzonTaL Beav ) -

WLET ADAPTER OOWEL SPACER

! VERTICAL ASSENBLY
/_ OFANSION JONT

240

L

l
y
Tt
e
- p
-

ron BUNGE—-ERGON VICKSBURG LLC orw: 35499 w0 souk  NONE
&/0:  CAMPBELL-SEVEY - . =
so: 8596 P.0.; 067081 e JMB TOLRCES: — RTR~166K26ALS @@D[ﬁ]
SUPPORT STAND
an 99453  lwen 4800F |we oo 120506 |RH ASSEMBLY fovelustrise
Silemensd, S0 st - > W R
e R o A R R A e e R e e N R A R e L X )




)

—— 42,0 —~]

ASSEMBLY PROCEDURE

—STAND THE (2). VERTICAL ASSEMBLIES INTO POSITION AS SHOWN IN
DRAWING #41289

—USING THE 5/8" BOLT ASSEMBLIES PROVIDED, LOOSELY BOLT THE (2)
HORIZONTAL BEAMS TO THE VERTICAL ASSEMBLIES (NOTE THE'
MARKINGS ON THE GUSSETS THAT IDENTIFY THE CORRECT ORIENTATION,

- SEE EXPLODED VIEW)

~LOOSELY BOLT THE (4) ANGLE IRON CORNER SUPPORTS IN PLACE
(5/8" BOLTS)

—CHECK THAT THE OVERALL LENGTH AT THE BOTTOM MATCHES

THE OVERALL LENGTH AT THE TOP

—TIGHTEN ALL BOLT ASSEMBLIES INSTALLED SO FAR

—PLACE THE ECONOMIZER ON THE STAND AND LOOSELY BOLT THE BEAMS

ON THE ECONOMIZER TO THE SHORT VERTICAL BEAMS THAT ARE WELDED
TO THE TOP OF THE STAND (5/8" BOLTS)

~LOOSELY BOLT THE BOILER EXHAUST OUTLET/ECONOMIZER INLET
ADAPTER TO THE ECONOMIZER USING THE 3/8" BOLT ASSEMBLIES
PROVIDED

—REMOVE PROTECTIVE PARTICLE BOARD SHEET FROM DOWEL SPACER/
EXPANSION JOINT ASSEMBLY

—BOLT THE DOWEL SPACER/EXPANSION JOINT ASSEMBLY TO THE BOILER
EXHAUST OUTLET AND THE INLET ADAPTER (3/8" BOLTS ON THE
ECONOMIZER SIDE, 1/2" BOLTS ON THE EXPANSION JOINT SIDE)

~IF A HEIGHT ADJUSTMENT NEEDS TO BE MADE, CUT THE TACKWELDS
HOLDING THE 3" ANGLE IRON FLANGE ON THE DOWEL SPACER THAT THE
EXPANSION JOINT IS CONNECTED TO AND RAISE OR LOWER FLANGE TO
PROPER HEIGHT AS NEEDED

—ONCE THE DOWEL SPACER AND EXPANSION JOINT ARE TIGHTLY
SECURED TO THE BOILER EXHAUST OUTLET AND THE INLET ADAPTER
SECURE THE STAND MOUNTING PADS TO THE FLOOR

~TIGHTEN ALL REMAINING BOLT ASSEMBLIES

—CONTINUOUSLY WELD THE 3" ANGLE FLANGE ON THE DOWEL SPACER
THAT CONNECTS TO THE EXPANSION JOINT

L
od
® HORIZONTAL BEAM —] —
INLET ADAPTER DOWEL SPACER <
VERRCAL ASSEMBLY : K
EXPANSION JOINT , \ | &
5] - . g - . i ‘T; ey
- ma "
—= b
b
A °
X 1 B
; T - |
y [ - I L |
fn: BUNGE-ERGON VICKSBURG LLC - oee 35499 w0 seae  NONE
- — RTR—166K26ALS &
s0:. 8586 P02 0678t ome JMB TOLERNCES: ~ SUPPORT STAND @@ﬂﬁ
wn 08453 |wm 4800f |wm we 120508 [ H ASSEMBLY freatries

+-
e e
NOTD TS PRINT 13 THE PROPEHTY OF CAIN OUSTRIES BC. ANG DXCEPT FOR {15 ORIGINAL INTENT CANNGT BC COPMIED, TRMMSFTARED, OR USED IN ANY

.———...
DPRESS WRITTEN

XY WTHOUT
NG, PO, BOX 186  Winé N11820 MOCORMICK ORME, GOOMMIDWN, W URA 83022  283-361-0081 mm—am-otu SNPCAIMID.O0M




NOMENCLATURE:

005.] LIFTING LUG {OTY. 4

D10.1 STANLESS STEEL INTERIOR LINER i

015.] STANLESS STEEL DAMPER ASSEMBLY (SHOWN IN THE BYPASS POSITION)

020.} COUPRESSION FITTING, FINTUBE TO HEADER

025.1 4 N STEEL F 0 L INL! ONNECTION

030.1 3/4" NPT VENT/SAFETY VALVE CONNECTION

040.] CAt4 LOGO AND SERIAL NO. ID.

04 STAMP: 300 PSIG [SEC. Vil DIV. 1y

04 poof CARBON STEEL FLANGED LIQUID OUTLET CONNECTIO)
550 " NPT_DRAIN CONNECTION -
055.] 3 THKS. FACTORY INSULATION

060.] STANLESS STEEL DAMPER SHAFT

070.] STACK ADAPTER OUTLET.: 36.125° ID RING 2°x 2"x 0,1875 ANGLE

065.] STACK ADAPTER INLET.: 27° x 52" [0 FIANGE (SEE DETAllll

v/ —{186) 0.4575 HOLES ON A 38.375° B.C.

075.] HINGE, ACCESS DOOR

080.] DOOR HANDLE (OTY, 4)

D8S.{ HINGED INSPECTION DODR ASSY: CLEANOUT-FINTUBE REMOVAL

7095.] 10 _GA._CARBON SIEEL EXTEROR

-

100.| FINTUBING ASSY.: 1.0 OD x .065W TP316 SA 249 STAINLESS STEEL TUBE

W/ ALFUSE FIN BRAZE/WELDED 10 .THE TUBE.

N -(32) 5/87¢

330
270
|
S O R
4.0 TP,
. .__3.‘.
0 o—i
80 TP,
. .—‘_T
. .
80520 o . 80
. o
. .\
. o
. .
s

,m.il Ed Tom

ADAPTER INLET FLANGE DETAIL

1077
CAW,

LEFT SIDE VIEW

OPTIONAL EQUIPMENT AVAILABLE:

THE FOLLOWING 1S A PARTIAL LIST OF OPTIONAL INSTALLATION COMPONENTS,
PLEASE CONTACT SALES FOR PRICE & DELIVERY.

EXHAUST PIPING

XHAUST ELBOWS & TEES,

XPANSION JOINTS: CLOTH TYPE AND STAINLESS BELLOWS

STRUCTURAL SUPPORT STANDS

INSULATION BLANKETS FOR ELBOWS AND PIPING

‘ 005 010 018 - 020
1 i
1 1
i i b §
] I
1 ¢
i !
I i
N " 1 L1 i -1
1 | 1 =
o i i = 2
1 i
=
- 1 ] =
) N =
B -1 ™.
b g . y a—
NZL
4 =
L AV
/ I i Y
1 , f \u
1 I ya T 1
' Il 1
h 14 T Y
H T T
d X s ; i
X L2 t 7
X T 1 ra
A} : + Z
“ < ¥ ) Z
< Z
~ ya
-
-
L) ';
n pry
L ) §
T 1
1 1
i t
! 1
i ]
i !
L 1
| o 1
| ]
Imwm ]

1032
QAL . -

T Y

N

NOTES:

DOUBLE COAT PRIMED AND PAINTED BLACK SATIN

(UNIT QUANTITY:1)

A
B. | MAXIMUM INLET EXHAUST TEMPERATURE: 750° F
D,

ASME_"U” STAMPED © 300 PSiG: SEC. Vill DN, |
OTHER COMPONENTS SUPPLED PER _ECONOMIZER BUT NOT SHOWN:

={1) 3/4" NPT RELIEF VALVE: SET © 300 PSIC

=(2) EXHAUST CAS THERMOMETERS, 150-750°F., 5 DIAL, ADJUSTABLE ANOLE

N —{._.) LIOUID THERMOMETERS, 50-500°F.. 37 DIAL, ADJUSTABLE ANGLE WITH WELL
2) 88" ¥ 66 MATING FLANGE CASKETS

=(1) EXPANSION JOINT 27" x 52" D
€. | PIPING INSULATED BY OTHERS AS REQUIRED.

| o— ‘——)

NN

N

22227 77A 7777772277777 23 Y7777 77 7

TOP VIEW

CUT AWAY

025 030 © rodo

b
o
Dt L3 ] [} 2 ] ) e

-

s
o

o

i P

I -

1 -

o

1 i FRYORE RSl e
8
o
o

o

X p

. . . . . . [ > .
i
+
1126
1 |
TOP_ VIEW
0504 065 070 -075 oso-! css 085
& 1

HEADER VIEW

RIGHT SIDE VIEW

‘sl
DOOR VIEW
for: BUNGE—~ERGON VICKSBURG LLC’ orwo; 35499 mv: O sae: 1/16"=1"
c/0:  CAMPBELL-SEVEY -
RTR—166K26ALS
soc 8998 jrosowm o M |eumet - lgojER ECONOMIZER caln
rer: 99453 jwor 4800 | wee: oae: 120506 1 RH UNIT IRdusSErice

WALCIATTOONIA P 1B 158-40nem\. e i & (3 [t DM OO s WDt g4 bovidoq -~ 12908 $0ed

NOTE: TWIS PRINT 1S THE PROPERTY OF CAIN MDUSTRIES INC, AND EXCEPT FOR (TS ORIONAL INTENT CANNOY BE COPIED, TRANSFERRED, OR USED IN ANY WAY WITHOUT THE EXPRISS WRATEN
AUTHORIZATION FROM:  CAIN INDUSTRIES. INC., P.0. BOX 180 W194 N11826 MCOORMICX DRIVE. CERMANTOWN, W, U.SA. 53022 262~251-0051 FAX 262-251-0118 DWW.CAININD.COM




NOMENCLATURE:

CAIN LOGO AND SERIAL

005.] LFTING LUG {07Y. 4
010.] STAINLESS STEEL INTERIOR UNER
015.] STANLESS STEEL DAMPER ASSEMBLY (SHOWN IN THE BYPASS POSITION)
020.| COMPRESSION FITTING, FINTUBE TO HEADER
025.| 3/% NP ONNECTION
0301 4. 300§ CARBON STEEL FLANGED UQUID OUTLET CONNECTION
35,1 ASME U~ STAMP: 300 PSIG (SEC. Min DIV, 1)

NO. D,

5 3‘4" NPT_VENT/SAFETY VALVE CONNECTION
D.{ 4" 300§ CARBON STEEL FLANGED LIQUID INLET CONNECTION
055. ¥ THKS. FACTORY INSULATION
- 060.] STAINLESS STEEL DAMPER SHAFT
065.] STACK ADAPTER INLET.: 27° x 52" 1D FLANGE (SEE DETAL)
D70.] STACK ADAFTER OUTLET.: 36.125° ID RING 2"x 2°x 0.1875” ANGLE
/ —(16) 0.4375" HOLES ON A 38.375" B.C.
075.| HINGE, ACCESS DOOR
080.] DOOR HANDLE (OTY. 4)
085.] HINGED INSPECTION DOOR ASSY: CLEANOUT-FINTUBE REMOVAL

W/ ALFUSE FIN_BRAZE/

095.] 10 GA. CARBON STEEL EXTERIOR
100.] FINTUBING ASSY.: 1.0 OD x .OG5W 1P318_SA 249 STAINLESS SIEEL TUBE

WELDED 7O THE TUBE.

([ B

o
270
S L
40 TP,
8 o+
. ]
8o YR,
.
¥
g o
58.0 520 . o 8.0

m..i [y v

ADAPTER INLET FLANGE DETAIL

[N =~(32) s/8%

107.7 . N

2

~005 010 015
} }
} [}
1 1
J 4 i b
1 i
1 H
] ]
1} 1
'\ ' ) et Pu g N
N | : § 1 -
~ ] ]
-~
1 o =
- I 1 =
=
at 4T TN —
.
- R £
e ! 1 A
1 1 £ AV
1 + Aw
. f ) T )
{ 1 4 i
“ { ) T = o
y- { T 7
. X + + F—
A} I T 7
s X n ) "
L Y + + —
< v
-
-
3 L)
s ranse e
1 J
T T
I ]
] 1
I ]
| 1
1 ]
1 i
o e 1,
1 1

' LEFT su)a VIEW

OPTIONAL EQUIPMENT AVAILABLE:

THE FOLLOWING IS A PARTIAL LIST OF OPTIONAL INSTALLATION COMPONENTS.
PLEASE CONTACT SALES FOR PRICE & DELVERY.

EXHAUST PIPING

XHAUST ELBOWS & TEES,

XPANSION JOINTS: CLOTH TYPE AND STANLESS BELLOWS

STRUCTURAL SUPPORT STANDS

NSULATION BLANKETS FOR ELBOWS AND FIPING

NOTES: (UNIT QUANTITY:1)
A DOUBLE COAT PRIMED AND PAINTED BLACK SATIN

B. MAXIMUM INLET EXHAUST TEMPERATURE: 7508 F

C. ASME "U" STAMPED @ 300 PSIG: SEC. Viii ON. |

D. OTHER COMPONENTS SUPPLIED PER ECONOMIZER BUT NOT SHOWN:

—(1) 3/4" NPT REUIEF VALVE: SET @ 300 PSIC

=(2) EXHAUST GAS THERMOMETERS, 150-750°F., S” DIAL, ADJUSTABLE ANGLE

—{2) LIOUID_THERMOMETERS. 50-500'F.. 3" DIAL, ADJUSTABLE ANCLE WITH WELL

—(2) 68 « 65" MATING FLANGE GASKETS

—{1) EXPANSION JOINT 27° x 52" 1D

£, PIPING INSULATED BY OTHERS AS REQUIRED.
— !’——“‘- um—
Z : 8 ]
%
Z T
z N s —F X
7 ,
é S
Z o L |
7
Z g X
) [
Z [ . ST S8 5
/ g
7 s
/ of o)
7 S
7
é o} o
/ »
é | of b
/ -
é -] o . . . 3 O - . - d »
f//////f///////l////// ) '3
>
112,6
T T
T
TOP_ VIEW JOP VIEW
CUT AWAY
~025 ~030 035 040 045 030 0S5 80~ 085 Q70 ~075 080~ 085 - 095 r 100
1 | 4 1
- - - H e ety i T
aé" I e .
d i :
< ~ -~
- .
- .
- L]
=& ] he . .
QAH
> )
> L]
&) | z
] = I A .
L il .
I " 1 -
(a4 1 1 Rl
g
L |

HEADER VIEW

RIGHT SIDE VIEW

\
Viow se o,/
DOOR VIEW:
for: BUNGE-ERGON VICKSBURG LLC orwe: 35499 v O SCALE: 1/16‘:1“
c/0: CAMPBELL-SEVEY - R 1
RTR—166K26ALS
t 0.4 1 . JMB OLERANCES: -

so: 8998 {noipes o : BOILER ECONOMIZER caliim
wer: 99453 |won 48004 |we: owe: 120506 [ (H UNIT ndustrics
NOTE: NSPFMGMPMWOTC:N ”»nnsmmmmtmuo COPIED. TRANSFERRED, DR USED 1N ANY WAY WITROUT THE

AUTHORIZATION FROM:

INDUSTRIES T BE COPI
INDUSTRIES, INC., P.D. BOX 1“ I‘N NHQ!B WCCORMICK DRIV, GERMANTOWR. Wi U.SA $3022

EXPRESS WRITTE
262-251-0081  FAX 262-251-0113  WWW.CAININD. CO“




ASSEMBLY PROCEDURE

. ~STAND THE (2) VERTICAL ASSEMBLIES INTO POSITION AS SHOWN IN
b : DRAWING f#41289
~USING THE 5/8" BOLT ASSEMBLIES PROVIDED, LOOSELY BOLT THE (2)
f HORIZONTAL BEAMS TO THE VERTICAL ASSEMBLIES (NOTE THE
'MARKINGS ON THE GUSSETS THAT IDENTIFY THE CORRECT ORIENTATION,
SEE EXPLODED VIEW)

' —LOOSELY BOLT THE (4) ANGLE IRON CORNER SUPPORTS IN PLACE
_ L s ' (5/8" BOLTS)
: . N ' —CHECK THAT THE OVERALL LENGTH AT THE BOTTOM MATCHES

- THE OVERALL LENGTH AT THE TOP
—TIGHTEN ALL BOLT ASSEMBLIES INSTALLED SO FAR
, | -PLACE THE ECONOMIZER ON THE STAND AND ‘LOOSELY BOLT THE BEAMS
_F ON THE ECONOMIZER TO THE SHORT VERTICAL BEAMS THAT ARE WELDED

| : : » TO.THE TOP OF THE STAND (5/8" BOLTS)

» A ~LOOSELY BOLT THE BOILER EXHAUST OUTLET/ECONOMIZER INLET
— - . ‘ A -

ADAPTER TO THE ECONOMIZER USING THE 3/8" BOLT ASSEMBLIES
LEFT HAND ASSEMBLY

PROVIDED

—REMOVE PROTECTIVE PARTICLE BOARD SHEET FROM DOWEL SPACER/

- EXPANSION JOINT ASSEMBLY

~BOLT THE DOWEL SPACER/EXPANSION JOINT ASSEMBLY TO THE BOILER
EXHAUST OUTLET AND THE INLET ADAPTER (3/8" BOLTS ON THE
ECONOMIZER SIDE, 1/2° BOLTS ON THE EXPANSION JOINT .SIDE)

—IF A HEIGHT ADJUSTMENT NEEDS TO BE MADE, CUT THE TACKWELDS
HOLDING THE 3° ANGLE IRON FLANGE ON' THE DOWEL SPACER THAT THE
EXPANSION JOINT IS CONNECTED TO AND RAISE OR LOWER FLANGE TO
PROPER HEIGHT AS NEEDED

—ONCE THE DOWEL SPACER AND EXPANSION JOINT ARE TIGHTLY
SECURED TO THE BOILER EXHAUST OUTLET AND THE INLET ADAPTER
SECURE THE STAND MOUNTING PADS TO THE FLOOR

—TIGHTEN ALL REMAINING BOLT ASSEMBLIES

—CONTINUOUSLY WELD THE 3" ANGLE FLANGE ON THE DOWEL SPACER
THAT CONNECTS TO THE EXPANSION JOINT

i) ]
- 0
o o o
Z
=
=
N
{ o BUNGE—ERGON VICKSBURG LLC owa 35499 o 0 scue  NONE
= T - RTR~166K26ALS
4 s 596 Do T 848 Towem . | RTRCIGEKIGAS caim
an 09453 Jwm 48004 | we 120508 LH/RH ASSEMBLY oy
[ mmnu%w:‘;ﬁmmwm*:;mmmnmmu W ANY WY WTHOUT THE DXPRISE WATTEN |

AUTHORZATION FROM DA INDUSTRIER, INC., PO, 80K 150 W1Sé NI1828 MOTORMCK ORME, CERMWIOWN, WL USA 53033 Ml =0081 FAX $M2-251-0118 WAALOAININO.COM



191.0

OVERALL HEIGHT

A

-]
C.
L.
-
[l o
L o
S oy

©

\ad: g

SIDE_VIEW

47.7
BEAM WIDTH

———— HORIZONTAL BEAM

L T g < © |
YO o of L:A:A Yy ] &l
] G4 44 ~HB4 a4
— il o
TOP VIEW
187.9
OVERALL LENGTH /
(< ST
/
LILIE OR IHI/
g
4 14 !
7 P
7

.4
L

2
L, OR w3 /5 EE; :

FRONT VIEW

ASSEMBLY PROCEDURE

—STAND THE (2) VERTICAL ASSEMBLIES INTO POSITION AS SHOWN 'IN
DRAWING #51289 )
—USING THE 5/8" BOLT ASSEMBLIES PROVIDED, LOOSELY BOLT THE (2)
HORIZONTAL BEAMS TO THE VERTICAL ASSEMBLIES (NOTE THE

MARKINGS ON THE GUSSETS THAT IDENTIFY THE CORRECT ORIENTATION
SEE EXPLODED VIEW)

~LOOSELY BOLT THE (4) ANGLE IRON CORNER SUPPORTS IN PLACE
(5/8" BOLTS)

—CHECK THAT THE OVERALL LENGTH AT THE BOTTOM MATCHES

THE OVERALL LENGTH AT THE TOP

~TIGHTEN ALL BOLT ASSEMBLIES INSTALLED SO FAR

—PLACE THE ECONOMIZER ON THE STAND AND LOOSELY BOLT THE BEAMS
ON THE ECONOMIZER TO THE SHORT VERTICAL BEAMS THAT ARE WELDED
TO THE -TOP OF THE STAND (5/8" BOLTS)

~LOOSELY BOLT THE BOILER EXHAUST OUTLET/ECONOMIZER INLET
ADAPTER TO THE ECONOMIZER USING THE 3/8" BOLT ASSEMBLIES
PROVIDED

~REMOVE PROTECTIVE PARTICLE BOARD SHEET FROM DOWEL SPACER/
EXPANSION JOINT ASSEMBLY

—~-BOLT THE DOWEL SPACER/EXPANSION JOINT ASSEMBLY TO THE BOILER
EXHAUST OUTLET AND THE INLET ADAPTER (3/8" BOLTS ON THE
ECONOMIZER SIDE, 1/2" BOLTS ON THE EXPANSION JOINT SIDE)

—IF A HEIGHT ADJUSTMENT NEEDS TO BE MADE, CUT THE TACKWELDS
HOLDING THE 3" ANGLE IRON FLANGE ON THE DOWEL SPACER THAT THE
EXPANSION JOINT IS CONNECTED TO AND RAISE OR LOWER FLANGE TO
PROPER HEIGHT AS NEEDED

—ONCE THE DOWEL SPACER AND EXPANSION JOINT ARE TIGHTLY
SECURED TO THE BOILER EXHAUST OUTLET AND THE INLET ADAPTER

| SECURE THE STAND MOUNTING PADS TO THE FLOOR

—TIGHTEN ALL REMAINING -BOLT "ASSEMBLIES
—CONTINUOUSLY 'WELD THE 3" ANGLE FLANGE ON THE DOWEL SPACER
THAT CONNECTS TO THE EXPANSION JOINT

VERTICAL ASSEMBLY

ror:- BUNGE~ERGON VICKSBURG LLC orws: 35499 v 0 sear  5/64"=1"
C/0: CAMPBELL-SEVEY -

[ RTR-166K26ALS
so. 8596 P.0.: 087681 orv:  JMB JOLERANCES: - SUPPORT STAND @@ﬁﬁ
per: 99453 jwon: 4800F | ase: owe: 120506 . Tedevery Syecoass

Mmmﬁ—-—\v‘-—.-‘.nwmm-rwu

NOTE: THIS PRINT IS THE PROPERTY OF

CAIN (NOUSTRIES INC. AND EXCEPT FOR TS ORIGINAL INTENT CANNOT BE COPIED, TRANSFERRED, OR USED IN ANY WAY WITHOUT THE CXPRESS WOEO':‘

AUTHORIZATION FROM:  CAIN wvsm:s. INC,. P.O. BOX ‘89 Wig4 mtaze MCCORMICK DRIVE. CERMANTOWN, Wi U.SA 53022 282-251-0051 FAX 282-251-0118  www.



